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Math Question #1

A man is putting a fence around his rectangular yard.  His lot measures 13.5 
feet (ft) long and 47.75 ft wide.  The fencing comes in rolls that are 50 ft 
long.  Which of the following is the number of rolls of fencing the man will 
need to buy?

A. 1
B. 2
C. 3
D. 4
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Math Question #1 ANSWER

A man is putting a fence around his rectangular yard.  His lot measures 13.5 
feet (ft) long and 47.75 ft wide.  The fencing comes in rolls that are 50 ft 
long.  Which of the following is the number of rolls of fencing the man will 
need to buy?

A. 1
B. 2
C. 3
P=47.75 x 2 + 13.5 x 2 = 122.5 ft.  Then take 122.5/50 =2.45 Rolls.  So he 
will need to buy three 50 ft. rolls to cover 122.5 ft.
D.  4
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Math Question #2

A symphony has 125 musicians.  Seventy-five of them are women.  Which 
of the following is the ratio of the men to the total musicians in the 
symphony?

A. #$
B. &$
C. #&
D. $#
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Math Question #2 ANSWER

A symphony has 125 musicians.  Seventy-five of them are women.  Which 
of the following is the ratio of the men to the total musicians in the 
symphony?

A. #$. 125 Musicians – 75 Women = 50 Men.  $% &'(
)$*+,'( = #$

B. .$
C. #.
D. $#
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Math Question #3

Simplify the expression below.  Which of the following are correct?  

6 × 5 + 7 ÷ 4 − 7 × 2 + 3 × 3

A. -72
B. -5
C. 13
D. 75
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Math Question #3 ANSWER

Simplify the expression below.  Which of the following are correct?  

6 × 5 + 7 ÷ 4 − 7 × 2 + 3 × 3

A. -72
B. -5
C. 13.  6 x 12 ÷ 4 − 14 + 9. 72 ÷ 4 − 5. 18 − 5 = 13.
D. 75
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Math Question #4

Which of the following completes the equation below?  

215.4% of 55 = _____

A. 11.847
B. 118.47
C. 1184.7
D. 11847
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Math Question #4 ANSWER

Which of the following completes the equation below?  

215.4% of 55 = _____

A. 11.847
B. 118.47. !"#.%"&& X 55 = 118.47

C. 1184.7
D. 11847
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Math Question #5

The graph above shows the average salaries of people in certain occupations in a given town.  Which of the 
following is the difference between the lowest and highest salaries shown in the graph?

A. $25,000
B. $40,000
C. $55,000
D. 105,000
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Math Question #5 ANSWER

The graph above shows the average salaries of people in certain occupations in a given town.  Which of the 
following is the difference between the lowest and highest salaries shown in the graph?

A. $25,000
B. $40,000
C. $55,000.  $80,000 – $25,000 = $55,000
D. 105,000
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Math Question #6

Solve the equation below.  Which of the following is correct?

!
" + 5 = 9

A. X = 4
B. X = 8
C. X = 13
D. X = 14
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Math Question #6 ANSWER

Solve the equation below.  Which of the following is correct?

!
" + 5 = 9

A. X = 4
B. X = 8.     !" = 4.  X = 8.
C. X = 13
D. X = 14
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Math Question #7

Which of the following is the solution set for the equation below?

! + 2 = 5

A. −7, 3
B. −3, 7
C. 3, 7
D. −7,−3



15

Math Question #7 ANSWER

Which of the following is the solution set for the equation below?

! + 2 = 5

A. −7, 3 . X + 2 = 5. X = 3;   X + 2 = -5.  X = -7
B. −3, 7
C. 3, 7
D. −7,−3



16

Math Question #8

The enrollment at a college went up from 625 to 710 students over a period 
of 1 year.  Which of the following is the percent of increase to the nearest 
tenth of a percent?

A. 8.8%
B. 11.4%
C. 12.0%
D. 13.6%
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Math Question #8

The enrollment at a college went up from 625 to 710 students over a period 
of 1 year.  Which of the following is the percent of increase to the nearest 
tenth of a percent?

A. 8.8%
B. 11.4%
C. 12.0%
D. 13.6%
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Math Question #8 ANSWER

The enrollment at a college went up from 625 to 710 students over a period 
of 1 year.  Which of the following is the percent of increase to the nearest 
tenth of a percent?

A. 8.8%
B. 11.4%
C. 12.0%

D. 13.6%. !"#$%& = %&&' .  625x = 710 X 100.  x= 113.6%.  113.6% - 100% = 
13.6%
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Math Question #9

Which of the following is the number of centimeters in 4 meters?

A. 0.04
B. 0.4
C. 40
D. 400
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Math Question #9 ANSWER

Which of the following is the number of centimeters in 4 meters?

A. 0.04
B. 0.4
C. 40
D. 400.  4m = 400 cm.  (Remember k h D b d c m). 
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Math Question #10

Simplify the expression below..  Which of the following is correct?

("# + 3x – 2) – ("# - 2x – 5)

A. 5x + 7
B. "# + 5x
C. X - 7
D. 5x + 3
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Math Question #10 ANSWER

Simplify the expression below..  Which of the following is correct?

("# + 3x – 2) – ("# - 2x – 5)

A. 5x + 7
B. "# + 5x
C. X - 7
D. 5x + 3
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Periodic Table of Elements 
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Science Question #1

Consider an atom that possesses 8 protons, 9 neutrons, and 7 electrons.  
This atom will have an overall charge of  ____ and will have an overall mass 
of approximately ____ AMU.  

Which of the following correctly completes the sentence above?

A. -1; 17
B. -1; 15
C. +1; 15
D. +1; 17
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Science Question #1 ANSWER

Consider an atom that possesses 8 protons, 9 neutrons, and 7 electrons.  
This atom will have an overall charge of  ____ and will have an overall mass 
of approximately ____ AMU.  

Which of the following correctly completes the sentence above?

A. -1; 17
B. -1; 15
C. +1; 15
D. +1; 17
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Science Question #2

____ KOH + ____ H"SO% → ____ H"O + ____ K2SO4

Which of the following equations balances the acid/base reaction above?

A. KOH + H2SO4 → H2O + K2SO4

B. 2 KOH + H2SO4 → 2 H2O + K2SO4

C. 2 KOH + H2SO4 → H2O + K2SO4

D. KOH + H2SO4 → 2 H2O + K2SO4
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Science Question #2 ANSWER

____ KOH + ____ H"SO% → ____ H"O + ____ K2SO4

Which of the following equations balances the acid/base reaction above?

A. KOH + H2SO4 → H2O + K2SO4

B. 2 KOH + H2SO4 → 2 H2O + K2SO4

C. 2 KOH + H2SO4 → H2O + K2SO4

D. KOH + H2SO4 → 2 H2O + K2SO4
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Science Question #3

The electron configuration for a certain neutral atom is 1!"2!"2#$3!"3#$4!".  
This atom also has a mass number of 42.  Which of the following indicates 
the number of protons and neutrons in this atom.  

A. 20 protons, 22 neutrons
B. 20 protons, 42 neutrons
C. 22 protons, 22 neutrons
D. 22 protons, 42 neutrons
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Science Question #3 ANSWER

The electron configuration for a certain neutral atom is 1!"2!"2#$3!"3#$4!".  
This atom also has a mass number of 42.  Which of the following indicates 
the number of protons and neutrons in this atom.  

A. 20 protons, 22 neutrons
B. 20 protons, 42 neutrons
C. 22 protons, 22 neutrons
D. 22 protons, 42 neutrons



29

Take 50% off TEAS Basic Package 
through Black Friday! Make the most of 
your downtime by getting ahead of your 
studies. Boost your break, so you can 
knock your TEAS score out of the park. 

Use code TEASBASIC50 at checkout, 
and remember, you got this.  

*Offer expires 11/23/18 at 11:59 PM CST. 
Cannot be combined with other offers. 
Valid for first-time purchases only.

Claim your offer: atitesting.com/deals


